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QUESTION 1

Which two options are available when configuring a virtual flash resource on a virtual machine? (Choose two.)
A. Reservation

B. SCSI Controller

C. Limit

D. Block Size

Correct Answer: AD

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.0/com.vmware.vsphere.storage.doc/GUID211CE783-51A8-4B65-BFF6-434D1C272308.html

QUESTION 2

Which two options are valid to create vApp in the vSphere Environment? (Choose two.)

A. Login using vSphere C# Client to the ESXi host, right click on the host and select Create new vVApp.

B. Login using vSphere Host Client to the ESXi host, right click on the host and select Create new vApp.

C. Login using vSphere WebClient to the vCenter Server, right click on the Cluster and select Create new VApp.

D. Login using vSphere WebClient to the vCenter Server, right click on the standalone ESXi host and select Create new
VApPp.

Correct Answer: BC

QUESTION 3

A VMware vSphere 6.x administrator sees the following output in esxtop:

2:32:21pm up 35 days 14:26, 819 worlds, 11 Ws, 28 v(PUs; CPU load average: 0.07, .87, .07

PCPU USED(X): 3.3 102.90.65.910.04.51.59.71.03.9 641.11.11.03.60.50.91.02.20.50.40.90.2AVG:5.5
PCPU UTIL(¥): 5.1 1050137.8 125828 112,142 522.12.41.64.20.81.62.13.51.10.51.880.5AVG: 5.9
CORE UTIL(X): 15 6.2 19 8.2 12 55 4.1 - P 2.5 5.3 1.8 2.0 AVG: 11

10 GID NAME NNLD SUSED  SRUN  %SYS  SWAIT %VMWAIT | %RDYJ] XIOLE HOVRLP  %CSTP SMLMTD XSWPWT
: . 0.4 0.00 0.00 @.00

56232 56212 atxlab-puppet-m 65.67 54.17 0.09 638.66 .74 legmedl 143 55

=
21749 21749 NSX_Controller_ 9 32.60 3599 0.44 854.78 . 0.19 361,17 . 0.0 0.0 @.00

334303 334303 qusmgtvrops@1 9 6.41 9.17 0.16 881.58 0. 0.19 188.87 O. 0.0 000 0.0
40196 49196 ausmgtvrliol 9 S.11  8.25 0.14 884.27 0. 0.24 189.86 @. 0.00 0.00
77058332 77058332 esxtop.10128716 1 3.72 3.54 0.01 95.46 : : : 0.00 0.00
6400419 6400419 qusmgtvropsd4 9 3.2 455 0.05 886.11 . i : { 0.00 0.00
7833 7833 hostd.34322 31 232 2.28  0.00 3066.36 ; . 4 0.00 0.00

What does the %RDY column represent?
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A. CPU Utilization

B. CPU Ready

C. CPU Cycle Wait Percentage
D. Idle CPU Percentage

Correct Answer: B

QUESTION 4

A vSphere administrator cannot mount an NFS datastore.

Which three actions can be performed to troubleshoot the issue? (Choose three.)

A. Verify that the CHAP authentication settings are correct.

B. Run esxcli storage nfs list and ensure that the NFS filesystem is etx44 or reiserFS.

C. Run the nc -z array-IP 2049 command in the ESXi Shell to see whether the ESHi host can reach the NFS server nfsd
TCP/UDP port (default 2049) on the storage array.

D. Ensure that the ESXi host can vmkping the NFS server address.

E. Ensure that the access on the NFS server is set to Anonymous user, Root Access (no_root_squash), and
Read/Write.

Correct Answer: CDE

Reference: https://kb.vmware.com/s/article/1003967

QUESTION 5

Which two options does VM Monitoring use to determine if a virtual machine should be reset? (Choose two.)
A. 1/O activity from the virtual machine

B. CPU activity from the virtual machine

C. Network activity from the virtual machine

D. Heartbeats from VMware Tools

Correct Answer: AD
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